H—2)LHR0O5 Vol 125 ffi 3k

D6 X 13 FE D6%X13 & 36
D6 X 13 FE D6%X13 & 36
D8 X 13 FE D8x13 & 38
262.50.368 by IL—LiN-Y AS & 150
262.50.390 h JL—Ln'—Y ASR & 180
262.50.359 by W=y AS & 150
262.49.365 ky IL—LN'—Y EH & 110
262.49.367 kh Ib—LN'—Y EHS & 160
262.51.380 rh TouH WIL—LiN=Y AD & 220
262.49.356 by W= 9Yy7 & 110
46080 ILFH)y7 & 260
262.87.041 ¥Y7499A 685 & 740
262.87.042 Y¥Y7499R 1545 & 760
262.87.190 XVM9IR DN —%v97" TV & 76
262.87.390 XVMIIR WN—%%97" 7799 & 76
262.87.790 IXVI9IR AN —Fvy7" KIMb & 76
262.96.211 #H3A1494— 65mm & 230
262.96.220 1##5A32%949—150mm & 240
262.87.190 XVM9IR DN —%v97" TV & 76
262.87.390 IXVM9IR DN —%v97" 7799 & 76
262.87.790 IXVI9IR AN —Fvy7" KIMb & 76
262.87.603 X199 R =9y & 300
262.87.931 EHERILAS35 16 %35 & 136
262.87.932 EHERILAS35 16 %55 & 164
262.87.901 EHERLAS35 M6 X% 35 & 120
262.87.902 EHERIVAS35 M6 X 55 & 140
262.87.911 EER S35 M8 X35 & 120
262.87.912 EHERLAS35 M8 X 55 & 140
262.53.300 9)y7'Karys— TERN-Y & 100
262.53.310 D)y7'Karys— EEBN-Y & 70
267.90.000 A9k 0 (1000 AY) 8 11,600
267.90.010 E'Zfyk 10 (1000 AY) i 11,600
267.90.020 E'Zfyk 20 (1000{EALY) i 11,600
574331 — 576418 F'3/DF500Q (PLUS) & 345,000
498899 N32/F97°EybDS yh 97,620
495666 NFUWHAN 71V A £ 13,100
495661 N3/F97°2 —#&FR E—FHF (AT UANyE] 4% 20mm (45018) Nyh 7,140
494938 NE/F97 R — &R E—FH TR LANYI5E] 5x 30mm  (300{E) nNyh 7,140
494939 NE/F97 R —IRF E—FHFRTLANYIEE] 6 x 40nm (190{E) nNyh 7,140
494940 N3/F97°2 —H&FR E-FHF (A7 UANy3E] 8 x 40mm (1308) N9 7,140
494941 FU/F97'2 —8RA E—FH(F AT LANYIEE) 8x 50mm (1008) nNYY 7,140
494942 N3/F9TR —RBR E—FM (T 4ATLANY)EE) 10 x 50 (85E) nNYY 7,140
493296 N3/Fy7°2 —REF ©—FH (#EFA%E) 5% 30mm  (18001E) ] 37,050

Cirdle




H—2)LHR0O5 Vol 125 ffi 3k

493297 N3/Fy7 2 —REF C—FH (#EFA5E) 6 x 40mm (1140{E) ] 37,050
493298 MUFY7 R —HRF E-FA({EFAFE) 8 x 40mm (7801E) ] 37,050
493299 MU/FY7R —HRF E-FA({EFAFE) 8 x 50mm  (6001E) ] 37,050
493300 N3/Fy7°2 —REF C—FH (#EFAFE) 10x 50mm (510{@) ] 37,050
498686 N3/F97° R —#&F £ —F#t U5 Fy7° 8 x 750mm  (364E) & 33,500
494859 N3/F97° A THAFY7E VK4t 5% 30mm  (9001E) 55 44,050
494860 N3/F97° A THAFY7E VK4t 6 x 40mm  (5701E) 55 44,050
494861 N3/F97° A THATYTE VK4t 8 x 40mm  (3901E) 55 44,050
494862 N3/F97° A THATY7H VK4t 8x 50mm  (3004E) 55 44,050
494863 N2/FY7'A THATYTF VRH 10 x 50mm  (2551@) & 44,050
495663 F3/h948— HW D4 NL11 #a 19,500
493490 F3/5198— HD D5 NL20 78 16,660
493491 F32/hy8— HW D6 NL28 7 16,960
493492 F3/hyh— HW D8 NL28 & 17,710
493493 F3/hys— HW D10 NL28 #a 19,940
493487 MILRRyN - 78 25,300
498590 AR = 78 27,250
494847 NN VITVA 7 21,450
201366 }3/DF500 3—F—N#AY 3V M3V 340b A 52,090
203168 N3/DF500 I-F—n %ALY 34U YATLE—LY 34 Ub ] 42,860
203167 }N3/DF500 £24—-N4ILY 3{UNR MY b A 38,100
203169 N3/DF500 24— 2V 3{ UM YRTLR—IbY a{ub ] 34,380
203165 F32/DF500 FYLTYT L=t FYNT Ry E— & 30,960
203175 F3/DF500 p3/Fy7° D8 X 36/130BU #a 8,340
203176 — 576796 F3/DF500 YATH—1TL #a 40,780
203170 — 576797 F3/DF500 p3/3298-YATH—tyb tyh 200,900
203171 N3/DF500 An'—%+v7° 75790 (50fEAY) 78 3,570
203172 }3/DF500 An'—%%y7" Vb= (50fEAY) 78 6,520
203173 F3/DF500 An'—%+97° B (50fEAY) 8 3,570
203174 }3/DF500 An'—%%y7" 4'L— (50fEAY) 78 3,570
203164 F3/DF500 MYLFYT L—b FE/a295— RN LAY S— & 42,410
' -4P2tyh FAOP-Y AT L & 396,000
P-14 C-100 53,99 AP-14 100 nyh 38,000
267.91.136 53299 ZAP-14 300 nNyh 114,000
P-10 C-100 43 *y9AP-10 100 nyh 36,740
267.91.130 53299 ZAP-10 300 nNyh 110,220
P-14 T-100 TUY-P-14 £L79507°K 100 Nyh 22,000
267.91.152 TUY-P-14 £L79507° 300 Nyh 66,000
P-18 D-100 T NYAP-18 27484V 4757° 100 Ny 26,000
267.91.155 T NYAP-18 27484V 4707° 300 NyY 78,000
045.00.145 @ 10mmyFl PChN —%+vy7" 4'=97°59Y NyY 420
045.00.243 ¢ 10mmyFl PChN—%+97" 777 nNyh 420
045.00.341 @ 10mmy< Al PChn' —%vy7" B Nyh 420

Cirdle



H—4I)Lh%0%5 Vol 125l R

045.00.540 @ 10mmy< A PChN —%+vy7" F4M'L— NyY 420
045.00.743 @ 10mmy< A PChn'—%vy7" B Nyh 420
045.33.050 @ 10mmy Bl REAN %97 N4y & 160
045.33.150 o 10mmgFl REAN—Fv97" +I=7N & 160
045.33.350 @ 1ommyN Al REAIN —%vy7" 7°F & 160
045.33.450 @ 1ommyN A REAN —%vy7" 49 & 160
045.33.550 o 10mmgFl REAN—F¥97" Tyva & 160
340.41.104 @ 35mm VY YT AN —F%v7" 759V & 33
340.41.702 @ 35mm VY YT RN -*vv7" B 1& 33
045.00.158 TURH AN - pemmyH 7757V Nyh 480
045.00.159 TIEH AN - pemmyvAH NAUE nNyh 480
045.00.358 TURH AN - pemmyE TTE Nyh 480
045.00.359 TURH AN - pemmyEH EE nyh 480
045.00.559 FIESHRIN— pemmyA MM L NyY 480
045.00.759 TURH AN - pemmyE B Nyh 480
SC-1 NY'L- tybfv97” 1 NYL— N9 600
SC-10 7% tybtry7” 10 794 N9 600
SC-11 % tybry7” 11 F N9 600
SC-12 N4'-% tybdry7” 12 N¥—4 Nyh 600
SC-13 4%%iBf tybfvy7’ 13 $5IBE Ny 600
SC-14 K7{tA' =1 tybdry7” 14 KUM=V 2 Ny 600
SC-15 'L-Va tybtyy7” 15 JL-Ya Ny 600
SC-16 W tybfyy7” 16 IW Wyl 600
SC-17 A'=Y1 tybey7” 17 A=V1 N9 600
SC-18 IN tybyy7” 18 IN Wyh 600
SC-19 A74ML— ybkyy7” 19 AFMML— N9 600
SC-2 5365 tybryy7” 2 5365 nNyY 600
SC-20 KIMML— tybyy7” 20 KM L— Nyh 600
SCc-21 T¥'L— tybdey7” 21 THL— Ny 600
SC-22 5364 tybfyy7’ 22 5364 Wyh 600
SC-23 K¥'L— tybfyy7" 23 KY'L- Ny 600
SC-24 J'L— tybtvy7” 24 JL- Ny 600
SC-25 H tybryy7” 25 B nNyY 600
SC-26 EETAR - tybfvy7” 26 FBETAHR)- Ny 600
SC-27 74K— tybfry7” 27 TAEY- Ny 600
SC-28 TAHK-E447 tybfvy7” 28 7AKY-E447 Ny 600
SC-29 M-y tybtvy7” 29 M-V Ny 600
SC-3 #F)'L— tybrvy7” 3 Y- N9 600
SC-30 74+ IL— tybtvy7” 30 47— Ny 600
SC-31~45 tyhyy7” 31~45 nNyY -
SC-4 4-4y’L— by 7 4 495 L— nNyY 600
SC-5 5366 tybyy7" 5 5366 Nyh 600
Sc-6 2 b7 6 2 nNyh 600

Cirdle



H—2)LHR0O5 Vol 125 ffi 3k

SC-7 LB7+7'3%y tybfvy7” 7 LBIMRT IV Ny 600
SC-8 10 tybtyy7” 8 108 NyY 600
SC-9 N7'39v by 7” 9 N7'I9Y Ny 600
045.23.300 PVCHN —F+¢y7 14mmE (531&) y—b 900
045.23.700 PVCHN —F+¥y7 14mmE (531&) y—b 900
SB-6 % 15 by 7w 6% 15 & 32
SB-6 % 20 Tyb ey 7w ILL 6% 20 & 22
SB-6 % 26 by 7RI 6% 26 & 22
SB-6 % 30 tyb ey 7 R ILE 6% 30 & 28
SB-6 % 35 b ey 7RI 6% 35 & 30
SB-6 % 40 tyb ey 7 R ILL 6% 40 & 30
SB-6 % 45 b ey 7 R ILE 6% 45 & 34
SB-6 % 50 b ry7 R ILL 6% 50 & 34
SB-6 % 55 b ry 7w L 6% 55 & 34
SB-6 % 60 b ry7 R ILL 6% 60 & 36
SB-6 %X 70 tyb ey 7w ILL 6% 70 & 42
SN-6 % 14 tybdry7 Tuk 6% 14 & 72
SN-6 % 19 Tybdry7Fob 6%x19 & 76
SW-1 ¢4 BEiRtyb w7 Tvie— & 16
SW-1 7/ BHiRtybMry7 Tvie— Ih & 16
SW-1 X HiRtybM ey Tvie— K & 16
SW-1 BHiRtyb vy Ivie— & 16
SW-2 4 EEEE— 04 & 12
SW-2 5.1 EEEEE T~ P51 & 12
JCB-A=+6 %23 GB JCB-A=+6 %23 GB & 64
JCB-A=6 X 23 Ni JCB-A=6 X 23 Ni & 64
JCB-A=6 %30 GB JCB-A=6 % 30 GB & 70
JCB-A=6 X 30 Ni JCB-A=6 % 30 Ni & 70
JCB-A=6 %35 GB JCB-A=6 % 35 GB & 74
JCB-A=6 X 35 Ni JCB-A=6 X 35 Ni & 74
JCB-A=6 % 40 GB JCB-A=6 %X 40 GB & 76
JCB-A=6 X 40 Ni JCB-A=6 X 40 Ni & 76
JCB-A=6 % 45 GB JCB-A=6 % 45 GB & 78
JCB-A=6 X 45 Ni JCB-A=6 X 45 Ni & 78
JCB-A=+6 x50 GB JCB-A=+6 x50 GB & 84
JCB-A=£6 % 50 Ni JCB-A=6 % 50 Ni & 84
JCB-A=+6 %55 GB JCB-A=+6 %55 GB & 84
JCB-A=£6 %55 Ni JCB-A=6 % 55 Ni & 84
JCB-A=6 % 60 GB JCB-A=6 % 60 GB & 92
JCB-A=6 X 60 Ni JCB-A=6 X 60 Ni & 92
JCB-A=+6x 70 GB JCB-A=+6x 70 GB & 108
JCB-A=£6 X% 70 Ni JCB-A=6 % 70 Ni & 108
JCB-A®)6 x 23 GB JCB-A®)6 x 23 GB & 64

Cirdle




H—2)LHR0O5 Vol 125 ffi 3k

JCB-A®)6 x 23 Ni JCB-A®)6 x 23 Ni 1@ 64
JCB-A®)6 x 30 GB JCB-A®)6 x 30 GB & 70
JCB-A®)6 x 30 Ni JCB-A®)6 x 30 Ni 1@ 70
JCB-A®)6 x 35 GB JCB-A®)6 x 35 GB & 74
JCB-A®)6 x 35 Ni JCB-A®)6 % 35 Ni 1& 74
JCB-A®)6 x 40 GB JCB-A®)6 x 40 GB & 76
JCB-A®)6 x 40 Ni JCB-A®)6 x 40 Ni & 76
JCB-A®)6 x 45 GB JCB-A®)6 x 45 GB & 78
JCB-A®)6 x 45 Ni JCB-A®)6 % 45 Ni 1& 78
JCB-A®)6 x 50 GB JCB-A®)6 x 50 GB & 84
JCB-A®)6 x 50 Ni JCB-A®)6 % 50 Ni 1@ 84
JCB-A®)6 x 55 GB JCB-A®)6 x 55 GB & 84
JCB-A®)6 % 55 Ni JCB-A®)6 % 55 Ni 1& 84
JCB-A®)6 x 60 GB JCB-A®)6 x 60 GB & 92
JCB-A®)6 x 60 Ni JCB-A®)6 % 60 Ni 1@ 92
JCB-A®)6 x 70 GB JCB-A®)6 x 70 GB & 108
JCB-A®)6 x 70 Ni JCB-A®)6 x 70 Ni & 108
JCN-A+6x%x12 GB JCN-A+6x12 GB & 64
JCN-A+6x12 Ni JCN-A=+6X%12 Ni & 64
JCN-A*+6x17 GB JCN-A+6x17 GB & 70
JCN-A=£6x17 Ni JCN-A=£6x17 Ni & 70
JCN-B®S6 x 12 GB JCN-B®6 x 12 GB & 64
JCN-B®6 x 12 Ni JCN-B®)6 x 12 Ni & 64
JCN-B®6 x 17 GB JCN-B®6 %17 GB & 70
JCN-B®6 x 17 Ni JCN-B®6 x 17 Ni 1@ 70
JCB-B*6x 15 GB JCB-B*6x 15 GB & 28
JCB-B=+6 % 15 Ni JCB-B=+6 % 15 Ni & 28
JCB-B=+6 % 30 GB JCB-B=+6 %30 GB & 34
JCB-B=6 % 30 Ni JCB-B=+6 % 30 Ni & 34
JCB-B=+6 % 35 GB JCB-B=+6 % 35 GB & 36
JCB-B=+6 % 35 Ni JCB-B=+6 % 35 Ni & 36
JCB-B=+6 % 40 GB JCB-B=+6 x40 GB & 38
JCB-B=+6 X 40 Ni JCB-B=+6 % 40 Ni & 38
JCB-B=+6 x 45 GB JCB-B=+6x 45 GB & 44
JCB-B=+6 % 45 Ni JCB-B=+6 x 45 Ni & 44
JCB-B=+6 x50 GB JCB-B=+6 x50 GB & 46
JCB-B=+6 % 50 Ni JCB-B=+6 % 50 Ni & 46
JCB-B=+6 %X 60 GB JCB-B=+6 %60 GB & 52
JCB-B=6 X 60 Ni JCB-B=+6 % 60 Ni & 52
JCB-B=+6x 70 GB JCB-B=+6x 70 GB & 62
JCB-B=+6 % 70 Ni JCB-B=+6 % 70 Ni & 62
JCB-B®)6 x 15 GB JCB-B®)6 x 15 GB & 28
JCB-B®6 x 15 Ni JCB-B®6 % 15 Ni & 28

Cirdle




H—4I)Lh%0%5 Vol 125l R

JCB-B®)6 x 30 GB JCB-B®)6 x 30 GB 1& 34

JCB-B®)6 x 30 Ni JCB-B®)6 x 30 Ni & 34

JCB-B(®)6 x 35 GB JCB-B®)6 x 35 GB 1& 36

JCB-B®)6 x 35 Ni JCB-B®)6 x 35 Ni & 36

JCB-B®)6 x 40 GB JCB-B®)6 x 40 GB 1& 38

JCB-B®)6 x 40 Ni JCB-B®)6 x 40 Ni & 38

JCB-B®)6 x 45 GB JCB-B®)6 x 45 GB & 44

JCB-B®)6 x 45 Ni JCB-B®)6 x 45 Ni & 44

JCB-B®)6 x 50 GB JCB-B®)6 x 50 GB 1& 46

JCB-B®)6 x 50 Ni JCB-B®)6 x 50 Ni & 46

JCB-B®)6 x 60 GB JCB-B®)6 x 60 GB & 52

JCB-B®)6 x 60 Ni JCB-B®)6 x 60 Ni & 52

JCB-B®)6 x 70 GB JCB-B®)6 x 70 GB & 62

JCB-B®)6 x 70 Ni JCB-B®)6 x 70 Ni & 62

GTC M6 X 6 BL B{EEECAPE'Z M6 £ & 240

GTC M6x 6 UC W{EEECAPE'A M6 1240 & 320

GTC M6 x 8 BL B{EEECAPE'Z M6 £ & 90

GTC M6 x 8 UC W{EEECAPE'A M6 1240 & 185

GTC M6 x 10 BL B{EEECAPE'Z M6 2 & 95

GTC M6 x 10 UC W{EEECAPE'A M6 1240 & 190

GTC M6 x 12 BL B{EEECAPE'Z M6 £ & 160

GTC M6 x 12 UC W{EEECAPE'A M6 1240 & 195

GTC M6 X 16 BL B{EEECAPE'Z M6 2 & 170

GTC M6 x 16 UC W{EEECAPE'A M6 1240 & 210

GTC M6 x 20 BL B{EEECAPE'Z M6 £ & 175

GTC M6 x 20 UC W{EEECAPE'A M6 1240 & 220

GTC M6 x 25 BL B{EEECAPE'Z M6 2 & 185

GTC M6 x 25 UC W{EEECAPE'A M6 1240 & 240

GTC M6 x 30 BL B{EEECAPE'Z M6 2 & 220

GTC M6 x 30 UC W{EEECAPE'A M6 1240 & 300

GTC M8 x 8 BL B{EEECAPE'Z M8 £ & 360

GTC M8 x8 UC W{EEECAPE'A M8 1240 & 460

GTC M8 x 10 BL B{EEECAPE'Z M8 £ & 350

GTC M8x 10 UC W{EEECAPE'A M8 1240 & 460

GTC M8 x 12 BL {EEECAPE'Z M8 £ & 270

GTC M8x 12 UC WB{EEECAPE'A M8 1240 & 360

GTC M8 x 16 BL B{EEECAPE'Z M8 £ & 275

GTC M8x 16 UC W{EEECAPE'A M8 1240 & 370

GTC M8 x 20 BL B{EEECAPE'Z M8 £ & 280

GTC M8 x 20 UC W{EEECAPE'A M8 1240 & 375

GTC M8 x 25 BL B{EEECAPE'Z M8 £ & 290

GTC M8 x 25 UC WB{EEECAPE'A M8 1240 & 390

GTC M8 x 30 BL B{EEECAPE'Z M8 £ & 310

Cirdle



H—2)LHR0O5 Vol 125 ffi 3k

GTC M8 x 30 UC FB{ESECAPE'A M8 1=/M & 400
A4x10 BE A4x10 1& 22
A6 x 10 BE A6x10 1& 30
A6 x 13 BE A6x13 1& 30
B M8x 135 58H B8x135 1@ 32
D10% 13 8E D10x13 1@ 46
D4 x 20 58H D4x20 1@ 32
D5x 13 8E D5x13 1@ 34
D6 x 10 58E D6x10 1 32
D6x 13 58E D6x13 1 36
D6 X 16 58E D6x16 1 38
D6 X 20 58H D6x20 1@ 40
D6 x 25 SBE D6X25 1@ 46
D8 x 13 58H D8x13 1 38
D8 x 25 58H D8x25 1@ 58
E4 %10 BE E4x10 & 26
E6x13 BHE E6x13 & 32
E6 X 20 BHE E6x20 1@ 38
E8x 13 8E E8x13 & 36
E8 X 20 SBE E8x20 1@ 46
E8 x 25 BE E8x25 1@ 50
011.00.214 B+ ¢FAN5{N—[5E/DIN 97 25%12 (500KAY) pey 22620
011.00.232 B4y ¥4+AN 34N ~ILFE/DIN 97 2.5%16 (500AAY) 55 14,950
011.00.241 B4y ¥4+AN 34N ~IFA/DIN 97 2.5%20 (500AAY) 55 24,470
011.00.438 B+ ¢/FAN5{N—[5E/DIN 97 25%30 (200KAY) ey 5,980
011.00.447 B+ ¢4FAN5{N—[5E/DIN 97 3.0%x20 (200KAY) ey 7,380
011.00.458 B+ ¢/FAN5{N—[5E/DIN 97 3.0%x25 (200KAY) pey 9,000
011.00.529 B+ ¢/FAN5{N—5E/DIN 97 3.0%16 (200KAY) ey 6,100
011.00.538 B4y ¢4FAN5{—[5E/DIN 97 35%x20 (200KAY) ey 5,960
011.00.547 B+ ¢FAN5{N—[5E/DIN 97 35%x25 (200KAY) ey 8,670
011.00.565 B+ ¢FAN5{N—5E/DIN 97 35%35 (200KAY) ey 10,980
011.00.629 BEE4Y ¥+AFAN~ILFE/DIN 97 45x40 (200AAY) ] 18,910
011.20.216 EE+Y YFANFAN-HIEE/DIN 95 25x12 (5004 AY) 55 14,530
011.20.234 BE+Y" Y+ANF4n'—3,IMEE/DIN 95 2.5x16 (5004 AY) pey 23,220
011.20.243 BE+Y" ¥+ANF4n'—3,IMEE/DIN 95 2.5x20 (5004 AY) pey 18,690
011.20.430 EFE+Y WFANFAN—FLIMTE/DIN 95 30X 16 (200KAY) ] 5,550
011.20.447 BT+ YFANTAN—FLIEE/DIN 95 3.0X20 (200AAY) ey 6,530
011.20.458 BT+ YFANTAN—FLIEE/DIN 95 3.0x25 (200AAY) ey 7,620
011.20.529 BT+ YFANTAN—FLIEE/DIN 95 3516 (2004 AY) ey 6,670
011.20.538 BE4Y YFANTAN—FLIEE/DIN 95 35x20 (200AAY) ey 7,670
011.20.547 BT+ YFANTAN—FLIEE/DIN 95 35x25 (200AAY) ey 9,580
011.20.556 BT+ YFANTAN—FLIEE/DIN 95 35x30 (200AAY) ey 10,790
011.20.604 BT+ YFANTAN—FLIEE/DIN 95 40X 16 (2004 AY) pey 8,910

Cirdle




H—4I)Lh%0%5 Vol 125l R

011.20.605 B4y YFANFAN—#LIFE/DIN 95 4.0x20 (200AAY) ey 8,340
011.20.609 B4y YFANFAN—#LILFE/DIN 95 4.0x40 (200AAY) ey 15,360
69646 efEe 2(EIE) BEf/70—L 15x 15 p:N 685
69647 efEE 2(EIT) BEf/70—L 15x 20 VN 700
69648 {efEE 2(EIME) BEfi/70—L 15x 25 VN 720
69649 efEE 2(EIfT) BEfk/70—L 15x 30 VN 770
69650 efEe 2(EIfT) BEf/70—L 19x20 VN 830
69651 efEE 2(EIME) BEfi/70—L 19x 25 VN 880
69652 efEe 2(EIMT) BEfk/70—L 19x 30 VN 930
69653 {efEE 2(EIME) BEfk/70—L 19x 35 VN 1,000
69654 EfEE 2(EIfT) BEfR/70—L 19x 40 VN 1,100
69655 bfEE 2(BI#E) BEfR//0—L 19x20 VN 350
69670 {efEE RGBT BEfi/70—L 19x 45 VN 1,200
69674 A-Lybe A(E4E) ATULR 15X 20 & 1,345
69675 A-Lybe A(E4E) ATULR 15X 25 & 1,430
69676 A-Lybe A(E4E) ATULR 20% 18 & 1,660
69677 A-Lybe A(E4E) ATULR 20X 25 & 1,860
69699 A-Lybe A(E4E) ATULR 15X 15 & 1,275
69700 A-Lybe A(E4E) ATULR 20X 30 & 2,100
006.28.210 MLOR nURFF4N— T10 & 3,780
006.28.211 MLOR NURFFAN= T15 1@ 4,120
006.28.212 MLIR NUFFIAN— T20 1@ 3,930
006.28.213 MLOR NURFFAN— T25 1@ 4,470
006.28.215 MLIR NUFFF4N— T30 & 5,080
019.01.900 HANMILYA/IEE $EYSAA)TfE 40%25 (1000AKAY) ] 16,790
019.01.901 HANMILYA/IEE $EYSAA)TfE 40%30 (1000AKAY) ] 19,170
019.01.902 HANMILYA/IEE $EYSAF)T fE 40%35 (1000AAY) ] 20,600
019.01.903 RAN-MVHR/INEE HEYAAYT fF 40x40 (500K AY) ey 11,310
019.01.904 HAN MUY /ILEE BYAAYT f 40%45 (5004 AY) ] 12,500
019.01.905 RAN-MVHR/INEE HEYAAYT fF 40x50 (500K AY) ey 13,100
019.01.907 RAN-MVHR/INEE HEYAAYT fF 40x60 (500K AY) ey 17,380
019.01.908 HAN-MLIR/ILEE FBYAAHYT fE 40X70 (2004 AY) ] 8,650
019.01.923 RAN-MVHR/INEE EYAAYT fF 45%50 (500K AY) ey 19,110
019.01.924 HAN-FLIR/ILEE BYAAYT f 45%X60 (2004 AY) ] 8,100
019.01.943 HAN-FLIR/ILEE BYAAHYT f 5.0X70 (2004 AY) ] 10,480
019.01.944 RAN-MVHR/INEE HEYAAYT fF 50x80 (200K AY) pey 12,170
015.73.526 MLOR-BEERAvE 3.0x13 HEES & 4,000
015.73.535 MULOR-EEEAAYE 30%x15 (10004 AY) 78 10,720
015.73.544 MLOR-BEERAvE 30X%17 BEESR i 4,000
015.73.553 MLOZ-BEEAAYE 3.0%20 (10004 AL) 78 9,530
015.73.571 MUOR-BEEAAYE 3.0%x25 (10004 AL) 78 10,110
015.73.624 MLOR-BEENAYE 35X 13 (1000 AY) Ei 11,910
015.73.633 MLOR-BEENAYE 35X 15 (1000 AY) 8 4,770

Cirdle



H—2)LHR0O5 Vol 125 ffi 3k

015.73.642 MLOR-BEERAvE 35X%17 BEESR & 4,000
015.73.651 MLYA-BEERAvE 3.5%x20 (10004 AL)) 78 4,880
015.73.679 MUOR-BEEAAyE 35%25 (10004 AY) 78 5,960
015.73.688 MLOA-BEEAAYE 35%30 (10004 AL) 78 12,030
015.73.697 MUOR-EEEAAYE 35%35 (10004 AL) 78 13,100
015.73.820 PVOA-BEERAvE 40x15 (1000 AL)) 78 6,000
015.73.839 PVOA-BEERAvE 40x17 (1000 AL)) 78 6,000
015.73.848 MUYA-BEERAvE 4.0%x20 (10004 AL)) 78 6,090
015.73.857 MUOR-BEEAAYE 40%x25 (10004 AY) 78 14,650
015.73.866 MLYA-BEERAvE 4.0x30 (10004 AL)) 78 8,000
015.73.875 MLOR-FERA V% 40X 35 (5004 AY) 78 8,930
015.73.884 MLYR-TESAAYE 40X 40 (500K AY) 8 4,770
015.73.928 MLYA-BEERAvE 45%x20 (1000 AL)) 78 16,670
015.73.937 MUOR-BEEAAYE 45%x25 (10004 AY) 78 16,790
015.73.946 MLOR-FERAvE 45%30 (5004 AY) 78 10,120
015.73.955 MLOR-FESRA V% 45%35 (50048 AY) 78 5,360
015.73.961 MLOR-FERAvE 45%50 (5004 AY)) 78 15,900
015.74.050 MUOR-BEEAAYE 50x17 (10004 AY) 78 9,530
015.74.078 MLOA-BEEAAYE 50%20 (10004 AL) 78 18,810
015.74.096 MLYZ-EEERAvF 5.0%30 (5004 AY) i 13,100
015.74.112 MLOR-FESRAvE 5.0X%40 (5004 AY) 78 15,480
015.74.130 MLYZ-EEEAAYF 5.0%50 (2004 AY) i 7,380
015.74.132 MLOR-FESRA V% 50X60 (2004 AY)) 78 8,580
015.74.154 MLOR-FERA V% 6.0X40 (2004 AY)) 78 3,600
015.74.158 MLYYZ-EEERAYF 6.0X60 (2004 ALY) i 13,030
015.74.160 MLOR-FERA V% 6.0X 70 (2004 AY)) 78 13,460
PBS-3.0 x 12U N—=FE'A M 30x12 1z4nO x 13,000
PBS-3.0 X 14U N—=FE'A @M 30x14 1240 A 13,130
PBS-3.0 X 16U N—=FE'A @M 30x16 1z40O x 12,000
PBS-3.0 X 20U N—=FE'A @M 3.0x20 1240 X 9,350
PBS-3.0 X 25U N—=FE'A @M 30x25 1240 X 7,600
PBS-3.0 X 30U N—=FE'A M 3.0x30 1z4MO X 7,700
PBS-3.0 X 35U N—=FE'A M 3.0x35 1240 X 6,500
PBS-3.0 X 40U N—=FE'A @M 3.0x40 1-40O X 6,200
PBS-3.0 X 12N N—=FE'A M 3.0X12 Ni VN 16,000
PBS-3.0 X 14N N—=FE'A M 3.0X14 Ni VN 15,750
PBS-3.0 X 16N N—=FE'A M 3.0X16 Ni VN 13,900
PBS-3.0 X 20N N—=FE'A M 3.0X%20 Ni VS 11,000
PBS-3.0 X 25N N—=FE'A M 3.0x%25 Ni VS 8,800
PBS-3.0 X 30N N—=FE'A M 3.0x%30 Ni VN 8,400
PBS-3.5%x 12U N—=FE'A @M 35x%12 1240 x 12,000
PBS-3.5 % 14U N—=FE'A @M 35x%14 1240 x 12,750
PBS-3.5% 16U N—=FE'A @M 35x%16 1z40O x 10,630

Cirdle




H—2)LHR0O5 Vol 125 ffi 3k

PBS-3.5 X 20U N—=FE'A @M 35x%20 1240 X 8,100
PBS-3.5 X 25U N—=FE'A @M 35%25 1240 X 7,500
PBS-3.5 % 30U N—=FE'A @M 35x%30 1240 X 6,900
PBS-3.5 % 35U N—=FE'A @M 35%35 1240 X 6,080
PBS-3.5 X 40U N—=FE'A @M 35%40 1z40O X 5,600
PBS-3.5% 12N N—=FE'A M 35%12 Ni VS 13,600
PBS-3.5 X 14N N—=FE'A M 35X%14 Ni VN 12,750
PBS-3.5 X% 16N N—=FE'A M 35X%16 Ni VS 11,880
PBS-3.5 X 20N N—=FE'A M 35%20 Ni VN 9,450
PBS-3.5 X 25N N—=FE'A M 35%25 Ni VN 8,250
PBS-3.5 X 30N N—=FE'A M 35%30 Ni VS 8,100
PBT-3.5%x 12U N=FE'RA A 35x12 1290 X 10,450
PBT-3.5% 14U N=FE'R A 35x14 12)0 X 9,650
PBT-3.5% 16U N=FE'RA A 35x16 1=)A X 10,000
PBT-3.5 % 20U N=FE'R A 35x%20 1z/A X 9,800
WR25ZT 1-AALyN fEFFE 25 & 3,380
WR28ZT 1-AALyN fEFFE 28 & 3,380
WR32ZT 1-AALyN fEFFE 32 & 3,380
WR38ZT 1-AALyh fEFFE 38 & 3,380
WR41ZT 1-AALyE fEFAFE 41 & 3,380
WR45ZT 1-AALyN fEFFE 45 & 3,380
WR51ZT 1-AALyh fEFAFE 51 & 3,380
WR57ZT 1-AALyN fEFFE 57 & 3,380
WR65HT 1-AALyN fEFAFE 65 & 2,260
WR75HT 1-AALyN fEFFE 75 & 2,260
WROOHT 1-AALyh fEFFE 90 & 2,260
SR25T AJLALYE 25 7 3,000
SR30T AJLALYE 30 7 3,000
SR35T ALALYE 35 7 3,000
SR40T AJLALYE 40 7 3,000
SR45T ALALYE 45 7 3,000
SR50T AJLALYE 50 7 3,000
SR55T AJLALYE 55 7 3,000
SR60T AJLALYE 60 7 3,000
SR65T AJLALYE 65 7 3,000
SR70T AJLALYE 70 7 3,000
SR75T ALALYE 75 7 3,000
SR90T AJLALYE 90 7 3,000
20x16 GB b7 RHY2— 2.0%16 GB NTEERY 7 1,750
20%16 Ni b7 RHY2— 20X 16 Ni NTEERY Ei 1,750
20x16 90—t b7 AHY2— 2.0%16 HOf—b XTEREERRY 78 1,750
20%x19 GB b7 RHY2— 2.0%19 GB NTEERY & 1,750
20%19 Ni Fy7'RHY2— 20X 19 Ni NTEERY 8 1,750

Cirdle




H—2)LHR0O5 Vol 125 ffi 3k

b7 2912~ XEERY 78
20%x24 GB b7 RHY2— 2.0%24 GB NTEERY 78 1,750
2.0x 24 Ni b7 R9Y2— 20%24 Ni NIEERY 8 1,750
2.0%x24 40—t b7 RHY2— 2.0x24 40i—F  XIEERY 78 1,750
20%x27 GB b7 RHY2— 2.0%27 GB NTEERY 7 1,750
2.0x27 Ni b7 R9Y2— 20%27 Ni NIEERY 8 1,750
2.0x27 90—t b7 RHY2— 2.0x27 40i—b  XIEERY & 1,750
20%x36 GB b7 RHY1— 2.0%36 GB NTEERY 78 1,750
2.0x36 Ni F7°29Y2— 20%36 Ni NIEERY Ei] 1,750
2.0%x36 40i—t b7 RHY2— 2.0x36 40i—k XIEEFRY 78 1,750

Cirdle



